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STRUCTURE OF THIS PAPER

	Section
	Format
	No. of questions available
	No. of questions to be attempted
	Suggested time/minutes
	Marks

	A
	Multiple Choice


	25
	ALL
	30
	25



	B
	Data Interpretation


	3
	ALL
	60


	30



	C
	Extended Writing


	5
	3
	90
	45











Total marks
=       100

INSTRUCTIONS TO STUDENTS

Section A
Answer ALL the questions on the separate Multiple Choice Answer Sheet using a 
2B, B or HB pencil.  Do not use a ballpoint or ink pen.

Section B 
Write your answers in the spaces provided in this Question/Answer Booklet.

Section C
Write your answers on lined paper.

SECTION A 

Multiple Choice Questions (25 marks)

Suggested time: 30 minutes

Attempt all questions in this section.  Choose the alternative which correctly answers the question or completes the statement.  Record your answers on the separate Multiple Choice Answer Sheet using a 2B, B or HB pencil.  Read the instructions on this sheet with care.

Each question is worth one mark.

________________________________________________________________________________

1.
Which of the following is a central issue in macroeconomics? 

a) The deregulation of the banking industry. 

b) Inflation of prescription drug prices.

c) The rate of change of real GDP.

d) The effect of excise taxes on consumers' buying patterns.

Question 2 refers to the following diagram.
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2.
Full employment would be the normal condition 

a)  in the Keynesian AS-curve case.

b)  in the classical AS-curve case.

c)  if wages and prices are assumed to be perfectly flexible. 

d)  in all of the above cases.

3.
The Keynesian AS-curve (45 degree line) implies that 

a) the economy is always at the full-employment level of output.

b) the AS-curve is completely vertical.

c) wages and prices are completely flexible. 

d) a change in spending will affect GDP but not the price level.

4.
 If a nation had a population of 100 million, with 20 million classified as not in the

labour force, 40 million classified as employed, and 10 million classified as unemployed,



the unemployment rate would be

a) 10%.

b) 20%.


c)
25%.

d)
40%

Question 5 refers to the following diagram.
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5.
 Which one of the following is most likely to cause the economy to move from point A to 

  point B?


a)
 An increase in interest rates.


b)
 Decreased government spending.


c)
 An increase  in consumer spending.


d)
 A rise  in personal income taxes.

6.
In the Keynesian model, if the MPC were 0.6, an independent decline in investment of $20bn would cause income to

a)  decline by $20 bn.

b)  decline by $40bn.

c)  decline by $50 bn.

d) rise by $20 bn.

7.
Which of the following is a possible cause of imported inflation?

a) An appreciation of the exchange rate.

b) A depreciation of the exchange rate.

c) The removal of tariffs on imported goods.

d) An international recession.

8.
During the 1990’s Australia’s

a) headline inflation rate equalled the underlying rate.

b) inflation rate remained below 2%.

c) inflation rate consistently exceeded the target rate.

d) inflation rate has been less than the OECD average.

Question 9 refers to the following table which shows the production possibilities for two countries and two products.



SENEGAL 






FRANCE

	WHEAT 
	BARLEY
	
	WHEAT
	BARLEY

	0
	8
	
	0
	4

	3
	6
	
	2
	3

	6
	4
	
	4
	2

	9
	2
	
	6
	1

	12
	0
	
	8
	0


9.
According to the law of comparative advantage 

a) Senegal should export barley to France at a price in excess of 1 unit of wheat for 2/3 units of barley.

b) Senegal should export barley to France at a price in excess of 1 unit of wheat for 1/2 unit of barley.

c) France should export both barley and wheat to Senegal because it is the more efficient producer of both products.

d) France should specialise in barley production and Senegal in wheat production. 

10.
Which of the following is a non-economic argument for protection?

a) The infant industry argument.

b) The anti dumping argument.

c) The current account deficit argument.

d) The self- sufficiency argument. 

11.
What is the main implication of a deterioration in the terms of trade?

a) Appreciation of the exchange rate.

b) The current account deficit must increase.

c) National economic welfare is diminished.

d) More imports can only be purchased if exports increase.

12.
Which of the following is included in Australia’s net foreign liabilities?

a) Net foreign equity and net foreign debt.

b) Net income and net services.

c) The current account deficit.

d) The foreign debt plus the public sector debt.

13.
Which of the following currencies have the highest weightings in the Trade Weighted Index?

a) The US dollar, Japanese yen and the New Zealand dollar.

b) The Japanese yen, European euro and the US dollar.

c) The British pound, US dollar and the Japanese yen.

d) The Korean won, Indonesian rupiah and the Thai baht.

14.
 During the Asian economic crisis of 1997 the Australian dollar, along with other regional currencies, experienced significant depreciation and the RBA came under some pressure to take action to halt the decline.  The RBA was prepared to allow the depreciation in the belief that

a) action to reduce the decline would be politically unpopular.

b) it is unable to influence the exchange rate.

c) depreciation would encourage exports and discourage imports.

d) it did not have adequate currency reserves to halt the decline.

15.
Australia persistently records a deficit on the current account of the balance of payments. This deficit is financed through 

a) federal government borrowing from the public and from  abroad.

b) export earnings.

c) portfolio investment.

d) a surplus on the capital and financial account.

16.
Direct foreign investment into Australia refers to

a) the purchase of shares in Australian companies by overseas residents.

b) loans from overseas residents to Australian residents.

c) that investment which gives the foreign investor some control over the asset.

d) loans from foreign residents directly to the government.

17.
 If the government cuts income tax rates it should expect that 

a) the AD-curve will shift to the right.

b) there will be a shift to the left of the long-run AS-curve.

c) the price level is likely to increase. 

d) all of the above.

18.
Government transfer payments usually 

a) rise during recoveries and fall during recessions. 

b) fall during recoveries and rise during recessions. 

c) rise during recoveries and recessions. 

d) fall during recoveries and recessions. 

19.
 Fiscal and monetary policy affect macroeconomic performance by 

a) creating budget deficits. 

b) creating budget surpluses. 

c) changing aggregate supply. 

d) changing aggregate demand. 

20.
 Which of the following policies would increase private saving? 

a)  Raising marginal tax rates. 

b)  Cutting marginal tax rates. 

c)  Increasing inflation rates. 

d)  Lowering nominal interest rates. 

21.
Which of the following is NOT an example of countercyclical fiscal policy?

a) A tax cut during a recession.

b) A tax increase during a time of inflation.

c) An increase in government spending at full employment.

d) A decrease in government spending during a period of inflation.

22.
Microeconomic policies can lead to economic growth because they

a) increase aggregate supply.

b) close the inflationary gap.

c) close the deflationary gap.

d) increase aggregate demand.

23.
A reduction in income tax rates affects the

a) cyclical component of the budget outcome.

b) structural component of the budget outcome.

c) non-discretionary component of the budget outcome.

d) government expenditure component of the budget outcome.

24.
An increase in interest rates will tend to 

a) lower inflation but raise asset prices.

b) raise inflation but reduce asset prices.

c) increase both inflation and asset prices.

d) decrease both inflation and asset prices.

25.
Monetary policy has a long impact lag because 

a) expenditure may be interest inelastic in some circumstances.

b) it takes time to assemble the economic data on which to make a decision.

c) investment is little influenced by interest rates.

d) the decision making process is protracted.

END OF SECTION A

SECTION B

Data Interpretation  (30 marks)

Suggested time: 60 minutes
Answer ALL THREE (3) questions.  Each question is worth 10 marks.

Write your answers in the spaces provided under each part of the question.
________________________________________________________________
26.
Question 26 refers to the following table.

An International Comparison of Inflation Rates

	Country


	1960s
	1970s
	1980s
	Early 1990s
	Aug 1998

	Australia
	2.5
	9.8
	8.4
	2.5
	0.7

	USA
	2.3
	7.1
	2.5
	3.2
	1.6

	Japan
	5.4
	9.1
	2.5
	1.0
	-0.2

	Germany
	2.4
	4.9
	2.9
	3.4
	0.8


Source; Gidney and Forster A Revision Guide to Economics 20001/02 page 36
(a)
(i)
Which nation experienced the lowest average rate of inflation over the entire period?



____________________


(ii)
Which nation experienced the greatest range in its inflation rate over the period?



_________________







(2 marks)

(b)
Compare Australia’s inflation performance to the other nations in the table.

(3 marks)

_______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

(c)
Discuss the possible impacts on the Australian economy of the trends in international inflation shown in the table.


(5 marks)

_______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

_______________________________________________________________________________________

27. Question 27 refers to the following table.

Australian Exports and Imports of Services 1990-2001
	
	YEAR
	SERVICE EXPORTS $M
	SERVICE IMPORTS $M
	NET SERVICES $M

	
	1990-91
	13 691
	17 267
	-3 576

	
	1991-92
	14 653
	17 800
	-3 147

	
	1992-93
	16 265
	19 143
	-2 878

	
	1993-94
	18 596
	20 533
	-1 937

	
	1994-95
	20 553
	22 337
	-1 784

	
	1995-96
	22 949
	23 349
	 -  400

	
	1996-97
	24 226
	24 152
	      74

	
	1997-98
	25 206
	26 398
	-1 192

	
	1998-99
	26 242
	28 026
	-1 784

	
	1999-2000
	28 317
	29 713
	-1 396

	
	2000-2001
	32 794
	32 239
	


       Table taken from Year 12 Economics 2002  Tim Riley Tim Riley Publications Page 70

(a)


(i)
  Calculate net services for the last year in the table.



_____________


(ii)
Give one example of a service credit and one example of a service debit in Australia’s balance of payments.        _______________________    ___________________________

 









             (2 marks)

(b) Describe the trends shown in the services sector of Australia’s balance of payments.



 (3 marks)


__________________________________________________________________________


__________________________________________________________________________


__________________________________________________________________________


_________________________________________________________________________

__________________________________________________________________________


_________________________________________________________________________

____________________________________________________________________________________________________________________________________________________

(c) Outline the effects on Australia’s balance of payments of the trends shown in the table and suggest two possible reasons for the change.





(5 marks)








______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

28. 
Question 28 refers to the following table.

Average Days between changes in the Cash Rate and Changes in Bank Lending Rates

	
	                           Early 
	1990s
	1996/97

	
	Policy tightening
	Policy easing
	Policy Easing

	Small Business Rate
	16
	23
	35

	Large business Rate
	16
	18
	21

	Housing Rate
	16
	32
	51


Source; Gidney and Forster A Revision Guide to Economics 2001/02  page 208

a)
(i)
Which type of loan has, on average, the longest lag between changes in the cash rate 

and changes in the rate charged by the banks?

______________        (1 mark)


(ii)
Are banks faster to follow cash rate decreases or cash rate increases?










______________
(1 mark)

b)
Compare monetary policy lags in the early 1990s to those in 1996/97.

(3 marks)

_______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

c)
Discuss changes to the effectiveness of monetary policy between the 1990s and 1996/97.












(5 marks)

_______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_______________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

SECTION C 

Essays and Extended Answers (45 marks)

Suggested time: 90 minutes

Answer any THREE (3) questions. Each question is worth 15 marks.

Write your answers on lined paper. Number your responses clearly.

________________________________________________________________________________
29.
(a)
The First Home Buyer’s Scheme granted up to $14 000 to first home buyers who 

built a new house. Demonstrate and explain how this scheme may have affected 

economic conditions in Australia. 




           (10 marks)

(b)
Compare the magnitude of this effect to the impact of a similar sized tax cut.








(5 marks)
________________________________________________________________________________
30.
Discuss the nature, determinants and impact, of economic growth on the Australian economy over the last decade.





          (15 marks)

________________________________________________________________________________
31. 
 (a)
Distinguish between the current account deficit and the net external debt and explain 

how they are related. 







(7 marks)


(b)
Discuss the economic implications of Australia’s net external debt.

(8 marks)

________________________________________________________________________________
32.
Demonstrate and explain how a tightening of monetary policy might affect the:


(a)
 exchange rate








(6 marks)


(b)
 inflation rate








(6 marks)


(c)
value of assets








(3 marks)

_______________________________________________________________________________
33.
(a)
Distinguish between federal government policies aimed at influencing aggregate

 demand and those that influence the supply side of the economy.

(9 marks)


(b)
Describe the combination of these policies currently operating in Australia.

(6 marks)
END OF PAPER
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